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X=  290190.629 X= 290202.095 X=  290210.898 X= 290209.139 X= 290166.490 X= 290155687 X=  290126.190

Y= 4202078.330 Y= 4202055534 Y= 4202021.497 Y= 4201968.985 Y= 4201960.313 Y= 4201939.508 Y= 4201933.497

A A N A A A A

V= -34.0082 V= 13.5566 V= 18.2436 V= 85.0977 V= -56.7399 V= 56.7124 V= -74.9613

R= 61.000 R= 15.000 R= 140.000 R= 15.500 R= 32.000 R= 15.000 R= 20.000

Lb= 32.586 Lb= 3.194 Lb= 40.120 Lb= 20.719 Lb= 28.521 Lb= 13.363 Lb= 23.550
= 2.243 o= 0.085 5= 1.450 o= 4.249 o= 3.463 5= 1.622 5= 4.049
= 32.586 M= 3.194 M= 40.120 M= 20.719 M= 28.521 M= 13.363 M= 23.550
= 0.000 A= 0.000 A= 0.000 = 0.000 A= 0.000 A= 0.000 A= 0.000
= 0.000 L= 0.000 L= 0.000 = 0.000 L= 0.000 L= 0.000 L= 0.000

Dr= 0.000 Dr= 0.000 Dr= 0.000 Dr= 0.000 Dr= 0.000 Dr = 0.000 Dr= 0.000
= 16.692 T= 1.603 T= 20.198 = 12.239 T= 15.286 T= 7.161 T= 13.355

X=  290121.081 X=  290120.853 X= 290150.194 X=  290145.625 X= 290140.003 X=  290143.613 X=  290129.778

Y= 4201907.254 Y= 4201869.616 Y= 4201792.961 Y= 4201771.894 Y= 4201754.907 Y= 4201733.768 Y= 4201714.316

A A A A A A A

V= -11.8550 V= -23.6581 V= 36.8688 V= 6.7507 V= -31.1151 V= 50.1256 V= -17.0137

R= 15.000 R= 15.000 R= 20.000 R= 15.000 R= 20.000 R= 20.000 R= 15.000

Lb= 2.793 Lb= 5.574 Lb= 11.583 Lb= 1.591 Lb= 9.775 Lb= 15.747 Lb= 4.009

5= 0.065 5= 0.263 5= 0.869 o= 0.021 o= 0.612 5= 1.657 5= 0.135

M= 2.793 M= 5.574 M= 11.583 M= 1.591 M= 9.775 M= 15.747 M= 4.009

A= 0.000 A= 0.000 A= 0.000 A= 0.000 A= 0.000 A= 0.000 A= 0.000

L= 0.000 L= 0.000 L= 0.000 L= 0.000 L= 0.000 L= 0.000 L= 0.000

Dr= 0.000 Dr= 0.000 Dr = 0.000 Dr= 0.000 Dr= 0.000 Dr = 0.000 Dr = 0.000

T= 1.401 T= 2.820 T= 5.959 T= 0.796 T= 4.987 T= 8.307 T= 2.016

X=  290117.478 X=  290104.909 X=  290103.950 X=  290111.366 X=  290108.259

Y= 4201680.722 Y= 4201660.542 Y= 4201649.317 Y= 4201622.185 Y= 4201586.530

A N A A

V= 13.1188 V= -30.0370 V= -22.4116 V= 22.5194

R= 15.000 R= 15.000 R= 15.000 R= 95.000

Lb= 3.091 Lb= 7.077 Lb= 5.281 Lb= 33.605

5= 0.080 = 0.427 5= 0.235 5= 1.506

M= 3.091 M 7.077 M= 5.281 M= 33.605

A= 0.000 A= 0.000 A= 0.000 A= 0.000

L= 0.000 = 0.000 L= 0.000 L= 0.000

Dr= 0.000 Dr= 0.000 Dr = 0.000 Dr= 0.000

T= 1.551 T= 3.606 T= 2.668 T= 16.980
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